(8)

6. (o) o Rwol T Seoifer Sz & &2
@A TR (IR OEH! T F | @R
IRAT (A1 OGS Y 7 RIS (7T R

T 2 4+8+2=14

What factors cause the emergence of
oligopoly? Explain the kinked demand
curve analysis. Is there always price
rigidity in kinked demand curve
analysis?

w31/ Or

(b)) TR RF e wROR RereE
Toffos wF RErre SeiEfee e
Nﬁagg_ i 14

Critically discuss the Baumol’s model of
sales maximization with and without
advertising.
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1. w5 Reum AR Ske : 1x8=8

Choose the correct alternatives :

(@) = efefel w@Re AR W MR TFRR
N
AR and MR curves under perfect ‘
competition are
(i) X-Sr%9 T
parallel to X-axis ,
(i) Y-SrH] TG
parallel to Y-axis

P23/169 . ( Turn Over )




(b)

(c)

P23/169

(2)

(iii) @ﬁmg
upward sloping
() Fgn®

downward sloping

8 AN CFqe TR wm Rfdgeer
|

In case of inferior goods, the income
elasticity of demand is

(i) @
positive
(i) ¥ITF
negative
(iit) *=0
zero
(iv) 5
infinity
‘R e’y afdch Re b1 AR Sommem
offeR Teomeiorer Ll

At all points on a ‘ridge line’, the MP of a
specific factor is

() ==
positive
(@) Fu

Z€ero

( Continued )

(3)

(iii) =TS
negative

(iv) =
infinity

(d) 7 2R AP TR A

(e)

P23/169

Under which form of market a firm is
price taker?
(i) aICHHA I|T
Monopoly
(i) =1 afecaier &=
Perfect competition L
(iii) <EFR afecaiIe & 3
Monopolistic competition
(iv) FER@EFOR &R
Oligopoly
L wpfeR e iR 3 P |
The ‘L’ shaped indifference curve
signifies
(i) F8 @@
substitutable goods
(i) e 7
complementary goods
(iii) @ BT
Both of the above
(iv) S°/J «bI8 T
None of the above
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(4)

(N ©RES He’ Trark SR SHeweE 3da
341 2%

The structure of the toothpaste industry
in India is best described as

(i) = afecafrenere e
perfectly competitive

(i) <=Fesfoar RBowest
monopoly

(i) <fEFR Afdcfrer o
monopolistically competitive

(iv) TERFe &R B
oligopolistic

(9) & FITFIR CFAS oY A (20"

Under price leadership, the leading firm
may be

(i) I/ «fdm
low cost firm

(ii) e eifedm
dominant firm

(iii) e ofobm
most experienced firm

(iv) SRR TeEd 39 R @ @B 27 M|
Any of the above

( Continued )

(h)

(S)

& @ AR SEgE 2
Public utility includes the supply of
(i) =
water
(i) %
gas
(iii) Regamfs
electricity .
(iv) SR SHRLIZH! £
All of the above

2. % GRIEAR B (af¥h seo R fets) :  4x4=16

Write short notes on (within 150 words

each) :
(@) oW ISR I I8 AT
Cash subsidy vs. Kind subsidy
(b) el @
Learning curve
() w1 Reeniwa
Price discrimination
(d) TR Ry

P23/169

Prisoner’s dilemma
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3. (a)

(b)

4. (a)

P23/169

(6)

TR W Rfweeer R wRwe ™
Rf¥gIreR TarR B R 9w afodEm
g%ﬁﬁaz@mﬂ@@aﬁ%m@ﬂ
o 2+4+8=14

What is price elasticity of demand? What
are the degrees of price elasticity of
demand? Examine the role of price
elasticity of demand in decision making
of a firm.

Y1/ Or

IS WIRFA TG BE Baw s
N | I& FAREFR g & oFva® PFeors @[
TG oS TegE 2 10+4=14

Explain the revealed preference theory
with appropriate diagram. In what
respects is the revealed preference
theory superior to indifference curve
analysis?

ﬁ@ﬁﬂmﬁww‘gnﬁﬂg%ﬁﬁ
(R TS FF Soamee ey I @
F Teere e @b Ay v W2 2+12=14

What is a production isoquant curve?
Discuss in what ways the least cost
combination and output maximizing
combination of factors are determined
with the help of isoquant curve and
isoclines.

( Continued )

(b)

(b)

P23/169

(7))

§31/ Or

ZIEN SF AT oS I @I e
T Sl 411 ‘L Wiy LAC @9l
o T 34| 8+6=14

Discuss the relationship between
short-term and long-term average cost
curves. Explain the L-shape of the LAC
curve.

FeiRe @ 7 o Ao weme Mewre
Ay offS WIF SCOnE SRSl (AT
e 01 =0, SeEm F40) 22 2+12=14
What is normal price? Discuss how the
long-term equilibrium of industry and
firm is determined wunder perfect
competition.

91/ Or

GFOHA ITRS IS ae F11RF 391 W\
oF SeAwed R @eeE Ry s =9
g@ﬁgﬁaﬁﬁﬂﬂ 10+4=14

Describe how a monopolist determines
his profit maximizing output and price
in the long run. How can monopoly
power be measured?
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